Generated by Docufy-Lite https://goo.gl/O2VLgP


https://goo.gl/O2VLgP

cos: |0, z[ > [-1.1]
Y = Xx=cosy

—.1

= =
(x=cosy) = l=(=siny)y, = y,=—= — =
(o sin e S s e

Jo,7z] e siny>0 oY camsd ) s

—1 \n |
Xe ]—l,l[ Cua yj:={mu:.'t;l::rs.:vr:}’r = ; ee> )
=5
u=u(x) cua (arccoxu) = - ale JSdug
i Y
dx .
I =—grccosx +c dda g
V1-x?
dx E
j—=—ar¢cﬂs—+c ale JSdu g
a’ -x* a
r alla) asly -

x y=tg_1x= arcig x
Pl duSleall allall oa

}M[% 5
o
YRRSED X =gy
y=arclgx :WEMIJR&:@,.;?J_-,(’QJ
x=igy AN e s

> 1=(1+g’y) y. > .=

1
l+1g%y 1+

Generated by Docufy-Lite https://goo.gl/O2VLgP


https://goo.gl/O2VLgP

L. ) |
35| o* | +1g°y=——#0 —=

a cos” y
L +x
—_— [ f H .
u=u(x) Cua i{arc 1gu) =] 5| ele 8y
+ U
J 4x —arcrgx+ci i
= ala
14 x° . =
j G | arct I+ : e (K
——— — o g W
a® +x2 a & a ‘ 1 =t

A0l ) sas ABlas 48 5k - £
arccig : R - 0,7
x = y=ctg'x=arc clg x
:i.l.ﬂli...ﬂh..lu.:!vn
ctg:10,x[ - W
Yy B x=clgy

(x=ctgy) = l==(I+cig’y) y. =y = Ll sy 5
l+ctg’y 1+x°

lo, x| o 1 +ctgly = _11 20 i

sin” y
Fo, 40 @a |(arcegx) = 1_:_1 er o
/ ~u'
- u=u(x) - (arc ctgu) = W ql"- Sy
: AP

Generated by Docufy-Lite https://goo.gl/O2VLgP


https://goo.gl/O2VLgP

—_—ee

jdx

2

=—qarcclig xX+c

Generated by Docufy-Lite https://goo.gl/O2VLgP



https://goo.gl/O2VLgP

